
� No.183-20-1 �

No.183-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 29× 34 = (2) 58× 77 = (3) 7140÷ 85 =

(4) 96× 57 = (5) 49 + 204 = (6) 751 + 480 =

(7) 507− 297 = (8) 2562÷ 42 = (9) 5481÷ 87 =

(10) 85× 39 = (11) 532 + 529 = (12) 7056÷ 98 =

(13) 419 + 685 = (14) 63× 11 = (15) 72× 44 =

(16) 7392÷ 88 = (17) 56× 32 = (18) 4218÷ 74 =

(19) 828− 798 = (20) 196− 59 =

� 13th-note �



� No.183-20-1 �

No.183-20-1 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 29× 34 = 986 (2) 58× 77 = 4466 (3) 7140÷ 85 = 84

(4) 96× 57 = 5472 (5) 49 + 204 = 253 (6) 751 + 480 = 1231

(7) 507− 297 = 210 (8) 2562÷ 42 = 61 (9) 5481÷ 87 = 63

(10) 85× 39 = 3315 (11) 532 + 529 = 1061 (12) 7056÷ 98 = 72

(13) 419 + 685 = 1104 (14) 63× 11 = 693 (15) 72× 44 = 3168

(16) 7392÷ 88 = 84 (17) 56× 32 = 1792 (18) 4218÷ 74 = 57

(19) 828− 798 = 30 (20) 196− 59 = 137

� 13th-note �



� No.183-20-2 �

No.183-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 594 + 837 = (2) 11× 24 = (3) 837 + 218 =

(4) 462÷ 22 = (5) 1863÷ 27 = (6) 30× 80 =

(7) 545 + 732 = (8) 65× 55 = (9) 93× 44 =

(10) 1431÷ 27 = (11) 7708÷ 82 = (12) 70× 46 =

(13) 702− 344 = (14) 3431÷ 73 = (15) 834− 166 =

(16) 944 + 867 = (17) 6225÷ 75 = (18) 1296− 939 =

(19) 829 + 852 = (20) 65× 45 =

� 13th-note �



� No.183-20-2 �

No.183-20-2 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 594 + 837 = 1431 (2) 11× 24 = 264 (3) 837 + 218 = 1055

(4) 462÷ 22 = 21 (5) 1863÷ 27 = 69 (6) 30× 80 = 2400

(7) 545 + 732 = 1277 (8) 65× 55 = 3575 (9) 93× 44 = 4092

(10) 1431÷ 27 = 53 (11) 7708÷ 82 = 94 (12) 70× 46 = 3220

(13) 702− 344 = 358 (14) 3431÷ 73 = 47 (15) 834− 166 = 668

(16) 944 + 867 = 1811 (17) 6225÷ 75 = 83 (18) 1296− 939 = 357

(19) 829 + 852 = 1681 (20) 65× 45 = 2925

� 13th-note �



� No.183-20-3 �

No.183-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 236− 47 = (2) 6688÷ 88 = (3) 1665÷ 45 =

(4) 52× 97 = (5) 887− 871 = (6) 44× 92 =

(7) 4131÷ 81 = (8) 804 + 855 = (9) 34× 20 =

(10) 642 + 666 = (11) 911− 123 = (12) 1339− 640 =

(13) 72× 16 = (14) 1173÷ 51 = (15) 58× 12 =

(16) 1039− 177 = (17) 963 + 993 = (18) 3735÷ 45 =

(19) 454 + 351 = (20) 273 + 274 =

� 13th-note �



� No.183-20-3 �

No.183-20-3 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 236− 47 = 189 (2) 6688÷ 88 = 76 (3) 1665÷ 45 = 37

(4) 52× 97 = 5044 (5) 887− 871 = 16 (6) 44× 92 = 4048

(7) 4131÷ 81 = 51 (8) 804 + 855 = 1659 (9) 34× 20 = 680

(10) 642 + 666 = 1308 (11) 911− 123 = 788 (12) 1339− 640 = 699

(13) 72× 16 = 1152 (14) 1173÷ 51 = 23 (15) 58× 12 = 696

(16) 1039− 177 = 862 (17) 963 + 993 = 1956 (18) 3735÷ 45 = 83

(19) 454 + 351 = 805 (20) 273 + 274 = 547

� 13th-note �



� No.183-20-4 �

No.183-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 970− 827 = (2) 99× 32 = (3) 3293÷ 89 =

(4) 6831÷ 99 = (5) 1581÷ 17 = (6) 230− 68 =

(7) 1052− 471 = (8) 890 + 30 = (9) 314 + 375 =

(10) 69× 57 = (11) 405÷ 15 = (12) 1101− 496 =

(13) 129 + 159 = (14) 37× 51 = (15) 3915÷ 45 =

(16) 1036− 509 = (17) 659− 354 = (18) 92× 56 =

(19) 96× 85 = (20) 11× 72 =

� 13th-note �



� No.183-20-4 �

No.183-20-4 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 970− 827 = 143 (2) 99× 32 = 3168 (3) 3293÷ 89 = 37

(4) 6831÷ 99 = 69 (5) 1581÷ 17 = 93 (6) 230− 68 = 162

(7) 1052− 471 = 581 (8) 890 + 30 = 920 (9) 314 + 375 = 689

(10) 69× 57 = 3933 (11) 405÷ 15 = 27 (12) 1101− 496 = 605

(13) 129 + 159 = 288 (14) 37× 51 = 1887 (15) 3915÷ 45 = 87

(16) 1036− 509 = 527 (17) 659− 354 = 305 (18) 92× 56 = 5152

(19) 96× 85 = 8160 (20) 11× 72 = 792

� 13th-note �



� No.183-20-5 �

No.183-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 339 + 751 = (2) 625 + 776 = (3) 886− 492 =

(4) 41× 75 = (5) 3480÷ 58 = (6) 1655− 671 =

(7) 56× 91 = (8) 1377− 861 = (9) 523 + 512 =

(10) 83× 78 = (11) 939 + 907 = (12) 8455÷ 95 =

(13) 332− 224 = (14) 1458÷ 81 = (15) 67× 35 =

(16) 12× 26 = (17) 1662− 769 = (18) 37× 96 =

(19) 3750÷ 50 = (20) 3432÷ 66 =

� 13th-note �



� No.183-20-5 �

No.183-20-5 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 339 + 751 = 1090 (2) 625 + 776 = 1401 (3) 886− 492 = 394

(4) 41× 75 = 3075 (5) 3480÷ 58 = 60 (6) 1655− 671 = 984

(7) 56× 91 = 5096 (8) 1377− 861 = 516 (9) 523 + 512 = 1035

(10) 83× 78 = 6474 (11) 939 + 907 = 1846 (12) 8455÷ 95 = 89

(13) 332− 224 = 108 (14) 1458÷ 81 = 18 (15) 67× 35 = 2345

(16) 12× 26 = 312 (17) 1662− 769 = 893 (18) 37× 96 = 3552

(19) 3750÷ 50 = 75 (20) 3432÷ 66 = 52

� 13th-note �



� No.183-20-6 �

No.183-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 31× 50 = (2) 79× 17 = (3) 165 + 218 =

(4) 982− 659 = (5) 368 + 348 = (6) 1373− 874 =

(7) 1530÷ 17 = (8) 1494− 972 = (9) 874 + 527 =

(10) 421 + 812 = (11) 208÷ 13 = (12) 897 + 163 =

(13) 802 + 156 = (14) 79× 52 = (15) 848 + 536 =

(16) 435− 303 = (17) 1252− 483 = (18) 850÷ 34 =

(19) 82× 65 = (20) 876 + 417 =

� 13th-note �



� No.183-20-6 �

No.183-20-6 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 31× 50 = 1550 (2) 79× 17 = 1343 (3) 165 + 218 = 383

(4) 982− 659 = 323 (5) 368 + 348 = 716 (6) 1373− 874 = 499

(7) 1530÷ 17 = 90 (8) 1494− 972 = 522 (9) 874 + 527 = 1401

(10) 421 + 812 = 1233 (11) 208÷ 13 = 16 (12) 897 + 163 = 1060

(13) 802 + 156 = 958 (14) 79× 52 = 4108 (15) 848 + 536 = 1384

(16) 435− 303 = 132 (17) 1252− 483 = 769 (18) 850÷ 34 = 25

(19) 82× 65 = 5330 (20) 876 + 417 = 1293

� 13th-note �



� No.183-20-7 �

No.183-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1522− 879 = (2) 983− 889 = (3) 1690− 923 =

(4) 29× 56 = (5) 44× 17 = (6) 39× 31 =

(7) 58× 46 = (8) 1618− 766 = (9) 257 + 252 =

(10) 97× 85 = (11) 747− 227 = (12) 831− 729 =

(13) 12× 26 = (14) 54× 12 = (15) 1188− 961 =

(16) 1236− 617 = (17) 23× 18 = (18) 935 + 557 =

(19) 672− 399 = (20) 3936÷ 48 =

� 13th-note �



� No.183-20-7 �

No.183-20-7 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1522− 879 = 643 (2) 983− 889 = 94 (3) 1690− 923 = 767

(4) 29× 56 = 1624 (5) 44× 17 = 748 (6) 39× 31 = 1209

(7) 58× 46 = 2668 (8) 1618− 766 = 852 (9) 257 + 252 = 509

(10) 97× 85 = 8245 (11) 747− 227 = 520 (12) 831− 729 = 102

(13) 12× 26 = 312 (14) 54× 12 = 648 (15) 1188− 961 = 227

(16) 1236− 617 = 619 (17) 23× 18 = 414 (18) 935 + 557 = 1492

(19) 672− 399 = 273 (20) 3936÷ 48 = 82

� 13th-note �



� No.183-20-8 �

No.183-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1043− 748 = (2) 635 + 183 = (3) 311 + 192 =

(4) 4698÷ 87 = (5) 3750÷ 75 = (6) 1553− 642 =

(7) 78× 25 = (8) 1343− 467 = (9) 1062− 756 =

(10) 857 + 361 = (11) 15× 23 = (12) 504÷ 24 =

(13) 80× 90 = (14) 1648− 852 = (15) 664− 115 =

(16) 1007÷ 19 = (17) 497− 93 = (18) 74× 77 =

(19) 373 + 703 = (20) 2394÷ 38 =

� 13th-note �



� No.183-20-8 �

No.183-20-8 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1043− 748 = 295 (2) 635 + 183 = 818 (3) 311 + 192 = 503

(4) 4698÷ 87 = 54 (5) 3750÷ 75 = 50 (6) 1553− 642 = 911

(7) 78× 25 = 1950 (8) 1343− 467 = 876 (9) 1062− 756 = 306

(10) 857 + 361 = 1218 (11) 15× 23 = 345 (12) 504÷ 24 = 21

(13) 80× 90 = 7200 (14) 1648− 852 = 796 (15) 664− 115 = 549

(16) 1007÷ 19 = 53 (17) 497− 93 = 404 (18) 74× 77 = 5698

(19) 373 + 703 = 1076 (20) 2394÷ 38 = 63

� 13th-note �



� No.183-20-9 �

No.183-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 84× 79 = (2) 924 + 292 = (3) 84× 19 =

(4) 588 + 268 = (5) 261− 68 = (6) 2622÷ 69 =

(7) 78× 52 = (8) 36× 29 = (9) 2925÷ 39 =

(10) 2528÷ 79 = (11) 75× 97 = (12) 2442÷ 33 =

(13) 5694÷ 78 = (14) 581 + 951 = (15) 2024÷ 92 =

(16) 1406÷ 19 = (17) 558÷ 31 = (18) 2581÷ 29 =

(19) 856 + 140 = (20) 1052− 562 =

� 13th-note �



� No.183-20-9 �

No.183-20-9 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 84× 79 = 6636 (2) 924 + 292 = 1216 (3) 84× 19 = 1596

(4) 588 + 268 = 856 (5) 261− 68 = 193 (6) 2622÷ 69 = 38

(7) 78× 52 = 4056 (8) 36× 29 = 1044 (9) 2925÷ 39 = 75

(10) 2528÷ 79 = 32 (11) 75× 97 = 7275 (12) 2442÷ 33 = 74

(13) 5694÷ 78 = 73 (14) 581 + 951 = 1532 (15) 2024÷ 92 = 22

(16) 1406÷ 19 = 74 (17) 558÷ 31 = 18 (18) 2581÷ 29 = 89

(19) 856 + 140 = 996 (20) 1052− 562 = 490

� 13th-note �



� No.183-20-10 �

No.183-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1341− 627 = (2) 528÷ 11 = (3) 98× 96 =

(4) 252÷ 18 = (5) 164 + 494 = (6) 319 + 655 =

(7) 39× 29 = (8) 205÷ 41 = (9) 1316÷ 28 =

(10) 1824÷ 76 = (11) 67 + 602 = (12) 557 + 435 =

(13) 36× 40 = (14) 31× 78 = (15) 21× 40 =

(16) 30× 59 = (17) 266 + 289 = (18) 720÷ 24 =

(19) 611 + 684 = (20) 32× 63 =

� 13th-note �



� No.183-20-10 �

No.183-20-10 （ 点） （ 分 秒）

以下の計算をしなさい。（１問 5点）

(1) 1341− 627 = 714 (2) 528÷ 11 = 48 (3) 98× 96 = 9408

(4) 252÷ 18 = 14 (5) 164 + 494 = 658 (6) 319 + 655 = 974

(7) 39× 29 = 1131 (8) 205÷ 41 = 5 (9) 1316÷ 28 = 47

(10) 1824÷ 76 = 24 (11) 67 + 602 = 669 (12) 557 + 435 = 992

(13) 36× 40 = 1440 (14) 31× 78 = 2418 (15) 21× 40 = 840

(16) 30× 59 = 1770 (17) 266 + 289 = 555 (18) 720÷ 24 = 30

(19) 611 + 684 = 1295 (20) 32× 63 = 2016

� 13th-note �


